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4.0905 ), M = 5.9742 x 10°*kg
R= 6378140m, G= 6.67259
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. GMm/ (R+ h)’=
mv® [ (R+ h)= m(R+ h)(2W T)?,
3
h= JeMT?/ 47~ R= 35785. 965km
v = JGM/(R+ h)= 3.075km/ s
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7. 784km/ s L0
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a= (hi+ 2R+ h)/ 2= 24371.123km,

¢= a= R— hi= 17792. 983km, (
u“ Ye= ¢/ a= 0.730085 (
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r=a(l-e”)/( 1+ ecosB) (n
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Q 2( v = JGM(2/ r- 1/ a) (2)
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35786km P(P
P v,
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r v 1
1
i 160km 0 0 30 60 90 120 150 180
1 0 360 330 300 270 240 210 180
r(m) 6578140 | 6972333 [ 8337291 (11380784 17923787 | 30949409 | 42164105
i 200km~ 400km | 7; 10.239 | 9.899 | 8903 | 7.328 | 5303 | 3.067 | 1597
2, E
2 2 R 2 2
5 hl ’ h
hi1= 200km, , ( 3), i= 30° s
1 v = JGM/(R+ hy) =
v = Jv v v =20 v cosi= 1.8704
"t km/ s .
€= arcsin[ (v sini)/ v ]= 25.279°
P v = 1.597km/ s
, v = 1.8704km/ s
55.279°(30°+ 25.279) P
R 200km
2 v = 7.784km/ s
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v = 1.8704km/ s, AB L EQ, i ( ); Rt
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200km v = 10.23%m/ s A RtAFAE , FA=
( ); FE*sin®= Re*sin® AE= FE*cos®= R *cos® Rt
P AABE ,AB= AE*sint= R*cos®*sint; tani
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